Phone: (919) 575-6426
Fax: (919) 575-4708

INSTRUMFENT COMPANY www.eNewton.com
FLOOR MOUNTING HARDWARE FOR OVERHEAD SUPPORTED RACK Sales Sheet Modified:04/03/2017
vl Ordering Table
Part Number
/7 0040180010
Stock List

Item | QTY | Description

Expansion Shield
3/8™-16 Nut
2-3/4" Stud

3/8” Lock Washer
5/8" Flat Washer
3/8” Flat Washer

auth wnNn =
NNNNNDN

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited



